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http://homepage.math.uiowa.edu/~idarcy/COURSES/150/FALL15/qu...

Note most quizzes will be 5 minutes in length and are meant to cover basic
material. Thus if you are not averaging an A on quizzes, you are probably
failing this class. This is really true. Past classes bear strong witness to this
fact.

Thus for each quiz, make sure you study the basics as outlined in each quiz
study guide (click on SG for the appropriate quiz for the Study guide.

You will have more time on exams, so exam questions can be more
challenging (so practice more than just the basics).

Quiz 5 study guide (note quizzes are cumulative):

Find the generating function of a sequence and simplify (See Monday's
11/16 lecture). ho, h, ) L,-,_, o

he + hyx +h,x*
Define Fibonacci sequence via (lg_g_}ve_: ﬁ_rst several temis of seuglfnce (2)

ating the homogeneous llnear recurrerice relatlon plus nitital

:q.d‘__‘.fu.. [

condltlons . — -

o, 1, |

J

Define derangs
Calculate D _n.
State the inclusion-exclusion theorem.

Problem similar to: How many terms are in the sum ), | Aj N A; N Ay? 3

[’€ F'/\cr‘e bre M Aﬂ—

State Pascal's formula.

Define inversion, disorder, even permutation, odd permutation.
o
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